AREX’
Powder and Bulk Technology

LVE

DR/SC10U~DR/SC30U DRSCAOU - DR/SCANN0 U OR/SCE000 U - DR/SCI0000 U
*DRISC10U D& Max12 a4 MBX1Z  4Xd

4X4"

MBxi2
\

10007
4067

FO4 F0507 | F0507 | Fo507 | Fo7-10 || Fo7-10 | FO7-10 | F10-12 | Fl0-12 |(F12)F14[(F12)F14](FIA)F16|(F14)F16]F16(F25)| F16-25 | F16-26-30
N x12 | 14x16 | 17x19 ] 17x19 [[22x24][ 22x24 | 27 %29 [ 27x29 | 27x29 | 36x39 | 36X 39 | 46 x49 | 46%49 | 55x 59 | 55%59 | 75x 80

1/8" 1/8° 1/8° 1/8" 1/4” /4" 1/4" /4" 1/4” /4" 1/4” 3/8” /2" 1/2" 1/2" /2"
136 153.5 203.5 241 259 304 333 3945 | 4225 474 528 605 710 812 876 950
69 85 102 115 127 145 157 177 196 2205 245 2985 330 383 410 518
72 84,5 93 106 1185 136 146.5 166 181 200 221.5 262 330 371 418 528

M5x8 M5x8 Msx8 | M5x8 || M5x8 || M5x8 | M5x8 | MSx8 | M5x8 | MS5Sx8 | M5x8 | M6x10 | M6x10 | M6x10 | Méx10 Méx10
M5x8 M5x8 msx8 | msx8 || m5x8 || M5x8 | MEx8 | M5x8 | M5x8 | MSx8 | M5x8 | M5x8 | M5x8 | MSx8 | IM5x8 Méx10

80 80 80 80 80 80 80 80 80 130 130 130 130 130 130 200
30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 50
11 11 17 17 17 27 27 27 27 36 36 36 36 36 36 36
20 20 20 20 20 30 30 30 30 50 50 50 50 50 50 80
42 50 50 50 70 70 70 102 102 140 140 165 165 165 165 165
- 70 70 102 102 102 125 125 - - . - - 254 254
= - > - : . - : = 5 S E - = z 298
32 32 32 32 32 32 32 32 32 32 32 45 45 45 45 45
24 24 24 24 24 24 24 24 24 24 24 40 40 40 40 40
M5E b M6 M6 M8 M8 M8 MIC M10 M16 M16 M20 M20 M20 M20 M20
ma M8 M8 Mi10 MI10 MIi0 MI12 M12 . - - - M6 M16
= = : 5 P 3 . = . . 5 = M20
42 42 42 42 42 58 58 67.5 67.5 80 80 115 115 116 115 115

*6bar DREKEATO ML, SCo BINATY LT « LY (T A+ —D0HF)

0.2 [0.25]0.25] 0,3 | 03 |0:35] 04| 05 [[05 [ 0.6 ] 07 [08 [0 |11 [1.2[ 14 15[ 17] 2 [22[27]32[38] 4 [a [as[ s [ 6 [ 6 [75] &8 [ 10
0.25] 05 | 03 |035[04 |05 |05 06 [0.7 [08 [0 [1.1 1214|1516 [ 1.8 |21 [24[28]3s5] 4 [ar]as|as[s [ e [7 |7 [8s] o | 1
009 016 | 031 | 051 || o071 [ 139 | 154 | 241 | 304 [ 426 | 594 10 145 | 20 25 49
0,15 026 | 049 | 078 | 11 18 | 234 | 378 | 492 | 689 | 946 | 152 | 2138 | 33 40 84
w01 6] 17 |27 s [37]4s [B2[ealeo]oa o8 12 1417 16|22 [24[ 33 3a 42 53 o7 [ 74] 93 123[155 127]169] 170 | 238

1) 2)I. 3)kg
ER: (A FHF2I—-4—0LRBERME. UFTORBREHTRLALLOTY,
5% DRISC10~DRISCE00 [ZDLAT : (1) Fif. (2) FHFaT—4—+ 2 hO—2 90°, (3) A1 74 RB4mm & L UFE Qna00LS DY L/ A K707, (4) BEAE 8mm, (5)
hIBEDNPERSR. (6) RAMAEN 55bar (79.75psi). (7) AMOERBFNZNTF I FaT—2—,
5k DRISCI00~DRISC10000 [2DLAT : (1) Zi, (2) PHFaT—%—+ 2 bO—% 90° (3) A1) 7 4 RE 1imm & & UFE Qn6000US D Y L/ A KL T, (4) REAE 11mm,
(5) PIEEDMPERA. (6) RAPHAEN 5.5bar (79.75psi) . (7) SHEBOERAFMEVNT I FaT—42—,
B BAACEVTERAS A—=4—0 1D2LEMRZIRE, BERMLAZYEY,

Modifications reserved, Date 03.2011 TDED2010
No guarantee for accuracy.
0404E

Older doto sheefs are Invalid.




